
. USN 2OMBAl4

(07 Marks)

) of 120 automobiles. The result of
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randomlv selected oeoole. The.data are s rown in the tab
Subject A B-,t"" C D E F*,
Ase 43,1- h4fl;1' 56 61 67 ?g-
Blood Pressure t28 n*ttn'lLtt 135 t43 I4t 15{I

A survey was coiitlqcted to determine thec.
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is as folto s :

Age of Auto -,:i 0-4 4-8 8-Ms 12- T6 t6 -20
Number":'bf,'A{ito's l3 29 48. 22 8

Find the Nfl,pdian age, Modal age of autos and also find mggn age.
::r, ii3r. 'ii'

What do you mean by correlatidfl?,''

(10 Marks)

(03 Marks)
(07 Marks)

2a.
b.

c.

Explain the different t f dbrrelationExpram
You are

rcrsnr rypgs{or s()

below the"dauilur w d to tht
Daily wages Facto4l6:!,:!X"

(# of workers)
Factory "ffi#

(# ofwork&s)T
t2* 13 ,r,". 15 25

t3 - t4 ilitffi,rll, 
30 :t Q :::

14-15 .i'.,:} 44
.f....:._60

15 - 16 ,,r 60
..,,,,,,,,,,35

16 =*.Im- 30 ,F,' 12

17-- 18 t4 ,*l T 15

18 *"19 07..1;,,=,"tji 05 .{,

sing appropriate measufee answer the.U
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in two factssies X and Y.
',.,./

"'ffi;l;ltWfu.

{eSH'x'

Which faotory pays higher wage?
Whic[,$[ Sry has a more cgnsistent wage structure?

3 a. List the difference between simplffi muhiple regression with example.
b. Interpret Rank Correlation io-effrcient between marks assigned to

rrllLr't'r 
11;

':1 (i1)

andY i

From the follow a interpret the two represslon equattons :

Sales 9l :9fir 108 t21 67 124 51 73 111 57

Purchase "l:,il;+ ,,n5 69 97 70 9I 39 6T 80 47

I of3

(10 Marks)

(03 Marks)
10 students by

(07 Marks)

\

x ur a certa n cormretrtlve test.

Judse X 52 53 42
'60,,

45 4t 37 38 25 27
Judee Y 65 68 4g; 38 77 48 35 30 25 50

he follo ddt he

(10 Marks)
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a. Name the rules of probability with formula. ,,,,,,,. -. f03 Marks)

b. A hospital has 20 kidney dialysis machines and the' ince of any one of thern not

functioning during any day is 0.02 you are required tb find the probability that exactly

3 machines will be out of service on the same duy. ,,, 1,

(i) Can we use the binomial formula to find1b14t this probability? If yes, apply binomial
probability distribution method. ft!,.

(ii) Can we use the Poisson formula t9,.,,..finp'out this? If yes app--|y poisson probability

c. The
distribution method. .,rJ-k .- "=" (07 Marks)

number of defects per unit in a samf.ib'of 330 units of manufaeturing product has given
*t 

:,t I

the data given (C - 0.439 
=t0.6447)

s..afalysis? Menti

::',:::::::::::::

(10 Marks)

(03 Marks)
's tons) of sugar factory.

below. Aoolv a oisson distribu
No. of defects 0 I 2 3 4'
No. ofunits 214 92 2A:' 3

"1

a. What
b. You l

meant by timeWnaI N meant Dy tfme SQfltsli1iIll0llsls, lvlelltlolr tIIs trEF-5.

You have been provided.,.i$*1th the figures a producjio:ftin 000's
Year 2013 e01f, 20t5 20t6 20t7 20r8 20t9
Production 77 ,,.,.. 48 94 85 9l rrr' 98 90

(, Fit a stralg11lfile and apply the methq.$gf least square
(ir) What is ti&dearly increase in prodUc,l,ton? Estimate pn
Calcrrlate the siasonal index for the foll6'*ins data assuminCalculate the seasonal index for the
the data i'the treng t[gimp&3yell&

the uses

oc.

re and find the trend
production in2022.
ring that there is no

value.
(07 Marks)

need to adjust

(10 Marks)

(03 Marks)

(07 Marks)
method.

(10 Marks)

(10 Marks)
':l::::,:,-

Mention : (i) T d Type II errors*r,(ii)tt' ti.t the tlpes-'of hypothesis testing. (03 Marks)

Explain the pro:cedure of hypothesis ts&dbscribed various'Stages involved. $7 Marks)Explain the pro:cedure of hlpothesi
The sales data of an item in six sho
L,xplam the proc-egure oI nypotnesls-tG$sdescflDed vanous smges mvolveo. (u'l vlarks)
The sales data"tfan item in six shqpS:,,fefore and after a $ecial promotional campaign are as

lea
Ouarter 20+& m2019 2020 202t", ;2022 2023

I ,#;,5,, 3.5 3.5 4$' 4.1 4.2
) ..3:9 4.1 3.9,r,, '4 4.4 4.6'.,

3 "r.,. 3.4 3.7 3J"'', 3.8 4.2 ,4.3

3.6 4.8 4.O 4.5 4.5 L,i

a.

b.

c.
under

ShoDs1,l+i.i:.:::: A B, dt .D E F

Bef:oruuiampaisn 53 ?e
#q)n

*# 48 50 42

After'Uamoaisn 59,, 30 55 56 45

ean the campaign be jg{$cd to be a

. .iarilll" i

Calculate MediadUpper quartiles,,ffi.Decile from the following data:

Heights 
,.,*u, 

tt
in CM !;*'Y,.

14s-1s0 1 sg#1s5 155*160 160-165 165-170 t70-t7 5 175-180

No. of oersons 2 r'4 1,2 22 30 25 t0

c. ulate the co-efficient of correlation by karl pearson's

2 of3'![u]fl,r' ,I
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The hourly wages of 1000 workmen are normalty dffi\te% around mean of Rs.70 and with
a standard deviation of Rs.5 estimate the number ofkffiers whose hourly wages will be,

*lqrs
/:\ Et^+.,,--r D- (< ^-,1 D. 7n "ffi. !*

CASE STUDY: (compulsory)

(r) Between Rs.65 and Rs.70. &*&.s

Apply the method of Norrnal di

(ir) More than Rs.75. %e-
(ii| Less than Rs.63 M;(rv) Greaterthan or equal to Rs.ffW.w

.!;

*@4s8e\.-(w) Greaterthan or equal to Rs.@%r #ru'"(v) Also estimate the lowest$ouffwages of the 100 highegt @id workers.-*
model for the data. &. *

ffi$s@
&"[ ufmP

rl dist*ihWt model for the data. \ " (20 Marks)
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